SOLUTIONS - Practice Problems

Solutions can be found at the end of the packet.

FOR YOUR SAKE...

Don’t just copy down the solutions. Make a note beside each problem you don’t understand
and talk with a friend about it or come see me before or after school during the first few days of
class. I will continually refer to these topics throughout the year. If you don’t understand this
stuff, you won’t be able to effectively do the calculus (even when the calculus concepts are easy).

Need to be able to do these WITHOUT A CALCULATOR

Unit Circle Trig. - Evaluate. Express your answers as exact values (no decimals, no rounding).
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Inverse Tl'lg E.Ypl essions. * Rummer with inverse trig fumtmlls 'LhL domain & ranges arc I1m11c.d

I&‘ the notes about these limits), so there is only one possible value for L-_'l(.h inverse.
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Solving each logarithmic or exponential equation for x ‘
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| Characteristics of some of the “Basic” Functions.

Function Domain Range Symmetry | Odd/Even Bnats
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LTransformations of functions - Sketch without the aid of a graphing calculator.
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Slope and the equation of a line.
Let A(~7,4) and B(5,-12) be points in the plane.

68.  Find the slope of the line that 69.  Find an equation of the line that passes
contains A and B.
! Q‘l}_["l) - .LE. = 1«4
CN-(s) 2
70.  What are the intercepts of this line? 71.  Determine the slope that is perpendicular to the line

)f-—w(g-:é) - >
0-4="%(x+)  4-4="3(0)

between A and B.
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Miscellaneous Problems : f;de |
72.  If f(2)=-7,then f (-1)=32 73 & 74. Determine the location (x-values) of the removable
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and infinite discontinuities of: f ( x) = E— ‘t‘)( ‘&‘13)
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‘ Miscellaneous Problems _i
‘ Determine the domain of each function without using a graphing calculator. —||
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Determine the vertic orizontal/slant asymptotes of each rational func‘uon (1f any) without using a graphing
calculator.
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I Determine whether each function is even, odd, or neither. odd * ;;m = odd J
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I Symmetry — Test each equation for symmetry (x-axis, y-axis, origin)
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l Simplify the following expressions ]
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93, Starting with the graph of a function /, which sequence of transformations produces the graph of
gX)==5f(x-4)+1?
Shift 1 unit up, then shift 4 units right, stretch vertically by a factor of 5, and reflect about the x-axis
(y-Shift 1 unit up, then shift 4 unitsleft; stretch vertically by a factor of 5, and reflect about the x-axis

(c) Shift 4 units right, then stretch vertically by a factor of 5, refleet-about the-y-axis, and shift 1 unit up
{d) Shift 4 unitsteft;then stretch vertically by a factor of 5, reflect about the x-axis, and shift 1 unit up
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In3-x)+2 if x<2

95. Given f(x)= {

£oy=2-1 =31

(b) -4 ©) 2 (d) -3

96.  Pick the letter which indicates whether the function is even, odd, or neither; and determine the
interval(s) over which the function is increasing.

(a) Even, (—o,) ¥

(b) Neither, (-1,1)

(c) 0dd, (—e0,~1) and (1,0) s 0 =g

@ Neither, (~os,~1)and (1,%) |
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Complete the table below. 11 ithelps. use the graphs below 1o sketch the graphs first.
i — S L

, Zeros / - Symmetry?
Domain Range roots / [ y- [ (v-axis,
} x-intercepts  intercepts | origin, or
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[ﬂ\'cluh the graph of each equation above on the planes below if it helps to fill in the blanks in the table.
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